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QUESTION 1

Your backbone network has a single dark fiber between two backbone sites within the same metro area. 

Currency this link is being used as a point-to-point 100ObE link between the routers using gray optics. The 

link has been experiencing high utilization and you are asked to propose network design changes to 

increase capacity across this network segment. 

Which statement is true in this scenario? 

A. New optical interfaces will need to be added to the routers. 

B. Interfaces need to be reconfigured for 200GbE. 

C. Gray optics can be used to increase capacity by enabling additional wavelengths. 

D. Enabling MPLS will increase capacity due to statistical multiplexing. 

Correct Answer: A 

 

 

QUESTION 2

Your company is considering how to add more visibility in their WAN MPLS links. Which Juniper Networks product
provides this type of traffic management? 

A. Contrail 

B. AppFormix 

C. JSA Series 

D. NorthStar 

Correct Answer: D 

 

QUESTION 3

You are designing a service provider core network As part of the design, you must ensure that the MPLS 

network utilizes the traffic engineering database (TED) for path selection and resiliency. You have chosen 

OSPF as the IGP for your design. 

In this scenario which statement is correct? 

A. You must enable traffic engineering in OSPF to populate the TED. 
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B. OSPF cannot be used to populate the TED. 

C. You must disable traffic engineering in OSPF to use the TED. 

D. OSPF populates the TED by default. 

Correct Answer: A 

https://www.juniper.net/documentation/en_US/junos/topics/example/ospf-traffic- engineeringenabling.html 

 

QUESTION 4

What is the minimum number of nodes in a Junos Space Fabric design? 

A. 2 

B. 3 

C. 5 

D. 1 

Correct Answer: D 

 

QUESTION 5

Which Juniper Networks platform automates the orchestration of compute, storage, and networking resources to create
and manipulate OpenStack clouds? 

A. NorthStar 

B. Contrail 

C. WANDL 

D. RingMaster 

Correct Answer: B 
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